
Q.1 The IISCO and TISCO industrial plants are related to which industry?
Ans 1. Sugar

2. Iron and steel

3. Textile

4. Cement

Question ID : 264330178709
Option 1 ID : 264330700864
Option 2 ID : 264330700863
Option 3 ID : 264330700865
Option 4 ID : 264330700866

Status : Answered
Chosen Option : 1

Q.2 Which of the following sports persons is associated with Billiards?
Ans 1. Homi Motiwala

2. Nameirakpam Kunjarani

3. Pushpendra Kumar Garg

4. Geet Sethi

Question ID : 264330176743
Option 1 ID : 264330693189
Option 2 ID : 264330693190
Option 3 ID : 264330693188
Option 4 ID : 264330693187

Status : Answered
Chosen Option : 4

Q.3 Shree Hanuman Vyayam Prasarak Mandal is situated in ____.
Ans 1. Nagpur

2. New Delhi

3. Amravati

4. Mumbai

Question ID : 264330110369
Option 1 ID : 264330433755
Option 2 ID : 264330433754
Option 3 ID : 264330433756
Option 4 ID : 264330433753

Status : Not Answered
Chosen Option : --
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Section : General Knowledge



Q.4 Biome can be defined as:
Ans 1. an area of desert

2. a large area characterised by its vegetation, soil, climate, and wildlife

3. a restricted area where only selected species can grow

4. an aquatic environment where only fishes can grow

Question ID : 264330120953
Option 1 ID : 264330474029
Option 2 ID : 264330474030
Option 3 ID : 264330474027
Option 4 ID : 264330474028

Status : Answered
Chosen Option : 2

Q.5 Member of Rajya Sabha, Sonal Mansingh is an eminent dancer of _________ and
Bharatanatyam.

Ans 1. Mohiniyattam

2. Odissi

3. Kathakali

4. Kathak

Question ID : 264330111979
Option 1 ID : 264330440001
Option 2 ID : 264330440002
Option 3 ID : 264330440004
Option 4 ID : 264330440003

Status : Answered
Chosen Option : 2

Q.6 The Sangeet Natak Akademi gives fellowships to eminent artists. Sonal Mansingh
received it for Odissi which is a dance form of which State?

Ans 1. Andhra Pradesh

2. Kerala

3. Uttar Pradesh

4. Odisha

Question ID : 26433086667
Option 1 ID : 264330340309
Option 2 ID : 264330340312
Option 3 ID : 264330340310
Option 4 ID : 264330340311

Status : Answered
Chosen Option : 4

Q.7 Which of the following cultural festivals is celebrated by the tribal people of
Jharkhand?

Ans 1. Sohrai

2. Ugadi

3. Sao Joao

4. Hareli

Question ID : 264330132404
Option 1 ID : 264330518713
Option 2 ID : 264330518714
Option 3 ID : 264330518712
Option 4 ID : 264330518711

Status : Answered
Chosen Option : 1



Q.8 ‘Nation First, Always First’ is the theme of _________ Independence Day 2022.
Ans 1. 75th

2. 72nd

3. 77th

4. 70th

Question ID : 264330106211
Option 1 ID : 264330417146
Option 2 ID : 264330417148
Option 3 ID : 264330417145
Option 4 ID : 264330417147

Status : Answered
Chosen Option : 1

Q.9 Chaitya Hall of Maharashtra is an example of _________ .
Ans 1. Islamic architecture

2. Nagara architecture

3. Cave architecture

4. Dravidian architecture

Question ID : 264330106229
Option 1 ID : 264330417218
Option 2 ID : 264330417220
Option 3 ID : 264330417217
Option 4 ID : 264330417219

Status : Answered
Chosen Option : 4

Q.10 What is the name of the scheme which has been rechristened in the year 2018 as
Poshan Abhiyaan?

Ans 1. National Nutrition Mission

2. National Mid-Day Meal Scheme

3.  Integrated Child Development Scheme

4.  Deen Dayal Upadhyaya Antyodaya

Question ID : 264330117989
Option 1 ID : 264330463771
Option 2 ID : 264330463772
Option 3 ID : 264330463774
Option 4 ID : 264330463773

Status : Answered
Chosen Option : 2

Q.11 Rudradaman belonged to which of the following dynasties?
Ans 1. Kushana

2. Maurya

3. Gupta

4. Shaka

Question ID : 264330114816
Option 1 ID : 264330451352
Option 2 ID : 264330451349
Option 3 ID : 264330451350
Option 4 ID : 264330451351

Status : Answered
Chosen Option : 4



Q.12 Vijay Stambh was built by which of these rulers?
Ans 1. Durga Das Rathore

2. Maharana Pratap

3. Rana Kumbha

4. Prithvi Raj Chauhan

Question ID : 264330109325
Option 1 ID : 264330429580
Option 2 ID : 264330429577
Option 3 ID : 264330429579
Option 4 ID : 264330429578

Status : Answered
Chosen Option : 2

Q.13 Sangeet Natak Akademi award winner Guru Vempati Chinna Satyam was an exponent
of _________ .

Ans 1. Kuchipudi

2. Bharatanatyam

3. Mohiniyattam

4. Kathakali

Question ID : 264330111969
Option 1 ID : 264330439964
Option 2 ID : 264330439962
Option 3 ID : 264330439961
Option 4 ID : 264330439963

Status : Answered
Chosen Option : 1

Q.14 In which year was ‘Pradhan Mantri Rozgar Yojana’ (‘PMRY’) launched?
Ans 1. 1990

2. 1993

3. 1999

4. 2001

Question ID : 264330130602
Option 1 ID : 264330511519
Option 2 ID : 264330511520
Option 3 ID : 264330511521
Option 4 ID : 264330511522

Status : Answered
Chosen Option : 4

Q.15 With which of the following subjects are Article 123 and Article 213 of the Constitution
of India associated?

Ans 1. Annual financial statement  

2. Jurisdiction of Courts 

3. Ordinance-making power 

4. Issuing writs 

Question ID : 26433053626
Option 1 ID : 264330209809
Option 2 ID : 264330209806
Option 3 ID : 264330209808
Option 4 ID : 264330209807

Status : Answered
Chosen Option : 3



Q.16 Who among the following female leaders addressed the Indian National Congress
session of 1890?

Ans 1.  Vina Mazumdar

2.  Basanti Devi

3.  Nanibala Devi

4. Kadambini Ganguli 

Question ID : 264330120260
Option 1 ID : 264330471295
Option 2 ID : 264330471296
Option 3 ID : 264330471297
Option 4 ID : 264330471298

Status : Answered
Chosen Option : 4

Q.17 In which of the following years was the Bandhan Financial Services Private Limited set
up to alleviate poverty and women empowerment?

Ans 1. 2002

2. 2004

3. 2001

4. 2003

Question ID : 264330116494
Option 1 ID : 264330458062
Option 2 ID : 264330458064
Option 3 ID : 264330458061
Option 4 ID : 264330458063

Status : Not Answered
Chosen Option : --

Q.18 Who among the following Mughal emperors was taken as the leader by the sepoys and
led the revolt of 1857?

Ans 1. Muhammad Shah

2. Shah Jahan II

3. Bahadur Shah Zafar

4. Aurangzeb

Question ID : 264330114088
Option 1 ID : 264330448437
Option 2 ID : 264330448438
Option 3 ID : 264330448439
Option 4 ID : 264330448440

Status : Answered
Chosen Option : 3



Q.19 KV Prasad and SV Rajarao are both associated with which of the following percussion
instruments?

Ans 1. Ghatam

2. Kanjira

3. Mridangam

4. Tabla 

Question ID : 264330111934
Option 1 ID : 264330439822
Option 2 ID : 264330439823
Option 3 ID : 264330439824
Option 4 ID : 264330439821

Status : Answered
Chosen Option : 1

Q.20 Which of the following is a Private Sector Undertaking of India?
Ans 1. Bhadravati Steel Plant

2. Housing Development Finance Corporation Limited

3. Bengal Chemicals and Pharmaceuticals Limited

4. Alloy Steels Plant

Question ID : 26433092385
Option 1 ID : 264330362831
Option 2 ID : 264330362829
Option 3 ID : 264330362832
Option 4 ID : 264330362830

Status : Not Answered
Chosen Option : --

Q.21 Isobars are defined as:
Ans 1. atoms of the same element having the same neutron number but different atomic

numbers
2. atoms of different elements having the same mass number but different atomic

numbers
3. atoms of the same element having different atomic numbers and different proton

numbers
4. atoms of the same element having the same atomic number but different mass

numbers

Question ID : 264330182937
Option 1 ID : 264330717483
Option 2 ID : 264330717481
Option 3 ID : 264330717482
Option 4 ID : 264330717480

Status : Answered
Chosen Option : 2



Q.22 Which of the following was added in the Constitution of India in 1976?
Ans 1. Fundamental rights

2. Right to education

3. Fundamental duty

4. Directive principle

Question ID : 264330118534
Option 1 ID : 264330465539
Option 2 ID : 264330465537
Option 3 ID : 264330465540
Option 4 ID : 264330465538

Status : Answered
Chosen Option : 3

Q.23 Where was the first unit of the Singh Sabha formed in 1873?
Ans 1. Amritsar

2. Karachi

3. Patiala 

4. Chandigarh

Question ID : 264330119026
Option 1 ID : 264330466759
Option 2 ID : 264330466761
Option 3 ID : 264330466762
Option 4 ID : 264330466760

Status : Answered
Chosen Option : 1

Q.24 Where is the oldest branch of the Ramakrishna Mission in the United States located?
Ans 1. Texas

2. Chicago 

3. Atlanta

4. New York

Question ID : 264330119008
Option 1 ID : 264330466689
Option 2 ID : 264330466690
Option 3 ID : 264330466688
Option 4 ID : 264330466687

Status : Answered
Chosen Option : 2

Q.25 What were cash crops such as cotton and sugarcane called during the Mughal period?
Ans 1.  Jins-i-kamil

2.  Jins-i-shukr

3.  Jins-i-taqh

4. Jins-i-qiblis 

Question ID : 264330118988
Option 1 ID : 264330466607
Option 2 ID : 264330466609
Option 3 ID : 264330466610
Option 4 ID : 264330466608

Status : Not Answered
Chosen Option : --



Q.26 निम्नलिखित में से कौन-सा कथन सही है?
Ans 1. पारिस्थितिक तंत्र में ऊर्जा का प्रवाह एकदिशीय होता है।

2. ऊर्जा का पिरामिड हमेशा उल्टा होता है।

3. सभी पारिस्थितिक तंत्र आकार में स्थिर होते हैं।

4. प्रकृ ति में, के वल खाद्य श्रृंखलाएँ  मौजूद होती हैं, लेकिन खाद्य जाल नहीं ।

Question ID : 264330111894
Option 1 ID : 264330439663
Option 2 ID : 264330439664
Option 3 ID : 264330439661
Option 4 ID : 264330439662

Status : Answered
Chosen Option : 1

Q.27 As per Tendulkar Expert Group (2009), for the year 2011-2012, the national poverty line
in India for a person was fixed at _____ per month for the urban areas.

Ans 1. ₹1,500

2. ₹800

3. ₹1,000

4. ₹2,000

Question ID : 264330183050
Option 1 ID : 264330717934
Option 2 ID : 264330717932
Option 3 ID : 264330717933
Option 4 ID : 264330717935

Status : Answered
Chosen Option : 1

Q.28 Which of the following is NOT a quality/feature of the parliamentary form of
government?

Ans 1. Wide representation

2. Single executive

3. Collective responsibility

4. Harmony between legislature and executive

Question ID : 264330120170
Option 1 ID : 264330470935
Option 2 ID : 264330470936
Option 3 ID : 264330470937
Option 4 ID : 264330470938

Status : Answered
Chosen Option : 2

Q.29 The first Khelo India Winter Games was hosted by which of the following places?
Ans 1.  Gulmarg

2.  Ladakh

3. Leh

4.  Shimla

Question ID : 264330176945
Option 1 ID : 264330693977
Option 2 ID : 264330693976
Option 3 ID : 264330693975
Option 4 ID : 264330693978

Status : Answered
Chosen Option : 1



Q.30 What is the full form of HYV seeds that were essential in the implementation of the
green revolution?

Ans 1. Hand Yielding Volume seeds

2. High Yielding Variety seeds

3. High Yeast Variety seeds

4. High Yielding Volume seeds

Question ID : 264330117757
Option 1 ID : 264330462846
Option 2 ID : 264330462843
Option 3 ID : 264330462844
Option 4 ID : 264330462845

Status : Answered
Chosen Option : 2

Q.31 What is the required size of the Olympic swimming pool?
Ans 1. 50 m × 30 m

2. 60 m × 60 m

3. 50 m × 25 m

4. 25 m × 15 m

Question ID : 264330118474
Option 1 ID : 264330465298
Option 2 ID : 264330465299
Option 3 ID : 264330465297
Option 4 ID : 264330465300

Status : Not Answered
Chosen Option : --

Q.32 ‘Higher Education Leadership Development Programme for Administrator’ is a
programme launched by which Union Ministry?

Ans 1. Ministry of Human Resource Development

2. Ministry of MSME

3. Ministry of Corporate Affairs

4. Ministry of Skill Development and Entrepreneurship

Question ID : 264330110184
Option 1 ID : 264330433014
Option 2 ID : 264330433016
Option 3 ID : 264330433013
Option 4 ID : 264330433015

Status : Answered
Chosen Option : 4

Q.33 According to Census of India 2011, select the state that had less than 10 crore
population?

Ans 1. Maharashtra

2. Uttar Pradesh

3. West Bengal

4. Bihar

Question ID : 264330182976
Option 1 ID : 264330717638
Option 2 ID : 264330717639
Option 3 ID : 264330717636
Option 4 ID : 264330717637

Status : Answered
Chosen Option : 4



Q.34 ‘The Great Gatsby’ is an English novel written by which of the following authors?
Ans 1. F. Scott Fitzgerald

2. Oscar Wilde

3. Ernest Hemingway

4. D. H. Lawrence

Question ID : 26433055376
Option 1 ID : 264330216490
Option 2 ID : 264330216491
Option 3 ID : 264330216488
Option 4 ID : 264330216489

Status : Not Answered
Chosen Option : --

Q.35 Who can amend any part of the Constitution without affecting the ‘basic structure’ of
the Constitution?

Ans 1. Judiciary

2. President

3. Parliament

4. Executive

Question ID : 264330173470
Option 1 ID : 264330680360
Option 2 ID : 264330680362
Option 3 ID : 264330680359
Option 4 ID : 264330680361

Status : Answered
Chosen Option : 3

Q.36 Who among the following novelists wrote ‘Midnight’s Children’?
Ans 1. Salman Rushdie

2. Shashi Tharoor

3. VS Naipaul

4. Vikram Seth

Question ID : 26433064232
Option 1 ID : 264330251523
Option 2 ID : 264330251521
Option 3 ID : 264330251522
Option 4 ID : 264330251520

Status : Answered
Chosen Option : 1

Q.37 Who among the following was NOT a member of the All India Khilafat Committee,
formed by Ali brothers in early 1919?

Ans 1. Yakub Hasan Sait

2. Hasrat Mohani

3. Maulana Abul Kalam Azad 

4. Hakim Ajmal Khan

Question ID : 264330120430
Option 1 ID : 264330471971
Option 2 ID : 264330471973
Option 3 ID : 264330471974
Option 4 ID : 264330471972

Status : Answered
Chosen Option : 3



Q.38 According to India Brand Equity Foundation report (2020-21), which group of states of
India is the largest coffee producer?

Ans 1. Tamil Nadu and Kerala

2. Kerala and Andhra Pradesh

3. Karnataka and Tamil Nadu

4. Karnataka and Kerala

Question ID : 264330132712
Option 1 ID : 264330519945
Option 2 ID : 264330519946
Option 3 ID : 264330519943
Option 4 ID : 264330519944

Status : Answered
Chosen Option : 1

Q.39 पंचवर्षीय योजनाओं के  वित्तपोषण के  संदर्भ में सार्वजनिक क्षेत्र के  मुकाबले निजी क्षेत्र के  लिए उपलब्ध
वित्त के  स्रोतों  में कौन-सा शामिल नहीं  है?

Ans 1. इक्विटी पूँजी के  रूप में विदेशी फं ड

2. व्यक्तियों की बचत

3. कर

4. सार्वजनिक क्षेत्र के  वित्तीय संस्थान

Question ID : 264330112476
Option 1 ID : 264330441992
Option 2 ID : 264330441989
Option 3 ID : 264330441991
Option 4 ID : 264330441990

Status : Answered
Chosen Option : 3

Q.40 Which of the following Buddhist texts is based on the conversation between the
Buddhist sage Nagasena and Indo Greek king Menander?

Ans 1. Mahavamsa

2. Milindapanha

3. Dhammapada

4. Prajnaparamita

Question ID : 264330183115
Option 1 ID : 264330718194
Option 2 ID : 264330718193
Option 3 ID : 264330718192
Option 4 ID : 264330718195

Status : Answered
Chosen Option : 2

Q.41 As a result of double counting, National Income is:
Ans 1. not estimated for the entire year of accounting

2. over-estimated

3. correctly estimated

4. under-estimated

Question ID : 264330110166
Option 1 ID : 264330432944
Option 2 ID : 264330432942
Option 3 ID : 264330432943
Option 4 ID : 264330432941

Status : Answered
Chosen Option : 2



Q.42 What is a relatively small, triangular-shaped minor oceanic plate located beneath the
Pacific Ocean off the west coast of Central America?

Ans 1. Nazca plate

2. Okhotsk plate

3. Cocos plate

4. Sunda plate

Question ID : 264330141737
Option 1 ID : 264330555267
Option 2 ID : 264330555270
Option 3 ID : 264330555269
Option 4 ID : 264330555268

Status : Answered
Chosen Option : 3

Q.43 Mrinalini Sarabhai is associated with which of these dance forms?
Ans 1. Kathak

2. Mohiniyattam

3. Manipuri

4. Kathakali

Question ID : 264330109297
Option 1 ID : 264330429468
Option 2 ID : 264330429465
Option 3 ID : 264330429466
Option 4 ID : 264330429467

Status : Answered
Chosen Option : 4

Q.44 Which of the following statements are correct regarding Fundamental Rights of the
Indian Citizen?
A. Some of the Fundamental Rights are available against the arbitrary action of the
state, some of them available against the private people.
B. Fundamental Rights are not absolute but qualified.
C. The Parliament can curtail or repeal the Fundamental Rights but without affecting
the basic structure of the Indian Constitution.
D. Under Fundamental Rights, the aggrieved person cannot go to the Supreme Court
directly, but they can go to the High Court directly.

Ans 1. A, C and D only

2. B, C and D only

3. A, B and C only

4. A, B, C and D

Question ID : 264330114757
Option 1 ID : 264330451116
Option 2 ID : 264330451115
Option 3 ID : 264330451114
Option 4 ID : 264330451113

Status : Answered
Chosen Option : 3



Q.45 What types of proteins reside within the bilayer membrane that surrounds cells and
organelles, and play an important role in the movement of molecules across them and
the transmission of energy and signals?

Ans 1. Carrier proteins 

2. Peripheral membrane proteins

3. Integral membrane proteins 

4. Glycoproteins

Question ID : 264330114599
Option 1 ID : 264330450484
Option 2 ID : 264330450483
Option 3 ID : 264330450481
Option 4 ID : 264330450482

Status : Answered
Chosen Option : 2

Q.46 Which Article of the Constitution of India deals with the ordinance making power of the
Governor?

Ans 1. Article 209

2. Article 205

3. Article 213

4. Article 203

Question ID : 264330177772
Option 1 ID : 264330697197
Option 2 ID : 264330697196
Option 3 ID : 264330697198
Option 4 ID : 264330697195

Status : Answered
Chosen Option : 3

Q.47 Consider following statements.
1)A system consisting of biotic and abiotic components is known as ecosystem. .
2)All the components of the ecosystem are inter-related.
3)Ecosystem always have clear boundaries.
Which statement is/are correct?

Ans 1. Both 1 and 2 statements are correct.

2. Both 1 and 3 statements are correct.

3. All the statements are correct.

4. Both 2 and 3 statements are correct.

Question ID : 264330118516
Option 1 ID : 264330465465
Option 2 ID : 264330465467
Option 3 ID : 264330465468
Option 4 ID : 264330465466

Status : Answered
Chosen Option : 1



Q.48 Which of the following Directive Principles of State Policy of the Indian Constitution
falls under socialistic principles?

Ans 1. To protect and improve the environment and to safeguard forests and wildlife

2. To prohibit the consumption of intoxicating drinks and drugs

3. Equal pay for equal work for men and women

4. To promote functioning of co-operative societies

Question ID : 264330113406
Option 1 ID : 264330445709
Option 2 ID : 264330445711
Option 3 ID : 264330445710
Option 4 ID : 264330445712

Status : Answered
Chosen Option : 4

Q.49 Which of the following is NOT a factor that causes rainfall in India?
Ans 1. Anti-cyclone

2. Convention

3. Cyclone

4. Orography

Question ID : 264330179013
Option 1 ID : 264330702056
Option 2 ID : 264330702057
Option 3 ID : 264330702055
Option 4 ID : 264330702058

Status : Answered
Chosen Option : 4

Q.50 Vilayat Khan is known for playing which of the following instruments?
Ans 1. Santoor

2. Sarod

3. Violin

4. Sitar

Question ID : 264330111931
Option 1 ID : 264330439812
Option 2 ID : 264330439810
Option 3 ID : 264330439809
Option 4 ID : 264330439811

Status : Answered
Chosen Option : 2

Section : Reasoning



Q.1 Which of the following terms will replace the question mark (?) in the given series?
CJLR, DINP, ?, FGRL, GFTJ

Ans 1. EJPO

2. EHON

3. EHPN

4. EIPN

Question ID : 264330102170
Option 1 ID : 264330401148
Option 2 ID : 264330401146
Option 3 ID : 264330401147
Option 4 ID : 264330401145

Status : Answered
Chosen Option : 3

Q.2 Select the number from among the given options that can replace the question mark
(?) in the following series.
21, 30, 23, 32, 25, ?

Ans 1. 36

2. 34

3. 37

4. 38

Question ID : 264330111626
Option 1 ID : 264330438589
Option 2 ID : 264330438590
Option 3 ID : 264330438591
Option 4 ID : 264330438592

Status : Answered
Chosen Option : 2

Q.3 Select the option that is related to the fifth letter cluster in the same way as the second
letter cluster is related to the first letter cluster and the fourth letter cluster is related to
the third letter cluster.
PENG : LIJK :: MONG : ISJK :: FTCH : ?

Ans 1. BXYL

2. VDAG

3. JKRI

4. AIEB

Question ID : 26433074687
Option 1 ID : 264330292836
Option 2 ID : 264330292838
Option 3 ID : 264330292837
Option 4 ID : 264330292839

Status : Answered
Chosen Option : 1



Q.4

Ans
1. 

2. 

3. 

4. 

Question ID : 264330108957
Option 1 ID : 264330428105
Option 2 ID : 264330428108
Option 3 ID : 264330428106
Option 4 ID : 264330428107

Status : Answered
Chosen Option : 4



Q.5 Select the figure from the given options that will replace the question mark (?) in the
figure given below to complete the pattern so that the final image is symmetrical.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330114727
Option 1 ID : 264330450993
Option 2 ID : 264330450994
Option 3 ID : 264330450996
Option 4 ID : 264330450995

Status : Answered
Chosen Option : 4



Q.6

Ans 1. 6

2. 8

3. 9

4. 10

Question ID : 26433091710
Option 1 ID : 264330360206
Option 2 ID : 264330360205
Option 3 ID : 264330360208
Option 4 ID : 264330360207

Status : Answered
Chosen Option : 4



Q.7 A square sheet of paper is folded along the dotted line successively along the
directions shown and is then punched in the last. How would the paper look when
unfolded?

Ans

1. 

2. 

3. 

4. 

Question ID : 264330172417
Option 1 ID : 264330676220
Option 2 ID : 264330676221
Option 3 ID : 264330676219
Option 4 ID : 264330676222

Status : Answered
Chosen Option : 2



Q.8 Six numbers 1, 2, 3, 4, 5 and 6 are written on different faces of a dice. Two positions of
this dice are shown in the figure. Find the number on the face opposite to 3.

Ans 1. 6

2. 4

3. 2

4. 1

Question ID : 264330117906
Option 1 ID : 264330463441
Option 2 ID : 264330463442
Option 3 ID : 264330463440
Option 4 ID : 264330463439

Status : Answered
Chosen Option : 4

Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 264330103883
Option 1 ID : 264330407834
Option 2 ID : 264330407836
Option 3 ID : 264330407833
Option 4 ID : 264330407835

Status : Answered
Chosen Option : 3



Q.10 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
4 : 12 :: 8 : ? :: 10 : 24

Ans 1. 22

2. 16

3. 24

4. 20

Question ID : 264330101048
Option 1 ID : 264330396738
Option 2 ID : 264330396737
Option 3 ID : 264330396740
Option 4 ID : 264330396739

Status : Answered
Chosen Option : 4

Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 264330112592
Option 1 ID : 264330442455
Option 2 ID : 264330442454
Option 3 ID : 264330442453
Option 4 ID : 264330442456

Status : Answered
Chosen Option : 1



Q.12 Select the correct combination of mathematical signs that can sequentially replace the
* signs and balance the given equation.
17*3*6*45

Ans 1. ×, –, =

2. ÷, –,=

3. –, =, ÷

4. ×, ÷, =

Question ID : 26433079096
Option 1 ID : 264330310388
Option 2 ID : 264330310389
Option 3 ID : 264330310390
Option 4 ID : 264330310391

Status : Answered
Chosen Option : 1

Q.13 J, K, L, M, N and O are sitting around a circular table facing the centre. Only two
people sit between J and O. Only one person sits between O and N. Only two people
sit between N and M. K sits to the immediate right of N. Who is sitting to the immediate
left of L?

Ans 1. M

2. O

3. N

4. K

Question ID : 264330104450
Option 1 ID : 264330410101
Option 2 ID : 264330410104
Option 3 ID : 264330410103
Option 4 ID : 264330410102

Status : Answered
Chosen Option : 1



Q.14

Ans

1. 

2. 

3. 

4. 

Question ID : 264330103887
Option 1 ID : 264330407849
Option 2 ID : 264330407852
Option 3 ID : 264330407851
Option 4 ID : 264330407850

Status : Answered
Chosen Option : 2



Q.15 Select the figure from the given options that will replace the question mark (?) in the
figure given below to complete the pattern so that the final image is symmetrical.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330114737
Option 1 ID : 264330451035
Option 2 ID : 264330451033
Option 3 ID : 264330451034
Option 4 ID : 264330451036

Status : Answered
Chosen Option : 3



Q.16 Select the correct mirror image of the given figure when the mirror is placed at 'AB' as
shown.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330118174
Option 1 ID : 264330464513
Option 2 ID : 264330464512
Option 3 ID : 264330464514
Option 4 ID : 264330464511

Status : Answered
Chosen Option : 3

Q.17 Two statements are given followed by two conclusions numbered I and II. Assuming
the statements to be true, even if they seem to be at variance from commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:
Some Fans are Round.
Some Round are Circles.
Conclusions:
I. All Fans are Circles.
II. All Circles are Round.

Ans 1. Only conclusion I follows.

2. Neither conclusion I nor II follows.

3. Both conclusions I and II follow.

4. Only conclusion II follows.

Question ID : 26433076594
Option 1 ID : 264330300440
Option 2 ID : 264330300443
Option 3 ID : 264330300442
Option 4 ID : 264330300441

Status : Answered
Chosen Option : 2



Q.18 Select the figure from the options that can replace the question mark (?) and complete
the given pattern.

Ans

1. 

2. 

3. 

4. 

Question ID : 264330106474
Option 1 ID : 264330418197
Option 2 ID : 264330418200
Option 3 ID : 264330418198
Option 4 ID : 264330418199

Status : Answered
Chosen Option : 3



Q.19 Select the option figure that is embedded in the given figure. (Rotation is not allowed).

Ans

1. 

2. 

3. 

4. 

Question ID : 264330114399
Option 1 ID : 264330449684
Option 2 ID : 264330449683
Option 3 ID : 264330449681
Option 4 ID : 264330449682

Status : Answered
Chosen Option : 3

Q.20 Select the set in which the numbers are NOT related in the same way as are the
numbers of the following sets.

(192, 12, 10),(195, 15, 7)
(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits.)

Ans 1. (208, 13, 16)

2. (189, 9, 15) 

3. (228, 12, 13)

4. (128, 8, 10) 

Question ID : 26433097242
Option 1 ID : 264330381667
Option 2 ID : 264330381668
Option 3 ID : 264330381666
Option 4 ID : 264330381665

Status : Answered
Chosen Option : 1



Q.21

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080620
Option 1 ID : 264330316414
Option 2 ID : 264330316415
Option 3 ID : 264330316413
Option 4 ID : 264330316416

Status : Answered
Chosen Option : 1

Q.22 If ‘A’ denotes ‘+’, ‘B’ denotes ‘×’, ‘C’ denotes ‘−’ and ‘D’ denotes ‘÷’, then what will come
in place of ‘?’ in the following equation?
(35 A 7 B 2) D 7 C (14 D 2 C 6) A 6 = ?

Ans 1. 0

2. 15

3. 12

4. 1

Question ID : 26433082472
Option 1 ID : 264330323724
Option 2 ID : 264330323721
Option 3 ID : 264330323723
Option 4 ID : 264330323722

Status : Answered
Chosen Option : 3



Q.23 Six letters, M, N, O, P, Q and R are written on different faces of a dice. Three positions
of this dice are shown here. Find the letter on the face opposite M.

Ans 1. R

2. N

3. O

4. Q

Question ID : 264330106402
Option 1 ID : 264330417912
Option 2 ID : 264330417909
Option 3 ID : 264330417910
Option 4 ID : 264330417911

Status : Answered
Chosen Option : 3

Q.24 In a certain code language, ‘BABY’ is written as ‘43427’ and ‘CREW’ is written as
‘520725’. How will ‘DATE’ be written in that language?

Ans 1. 63227 

2. 62206

3. 53215 

4. 41205 

Question ID : 26433089412
Option 1 ID : 264330351152
Option 2 ID : 264330351149
Option 3 ID : 264330351150
Option 4 ID : 264330351151

Status : Answered
Chosen Option : 1



Q.25 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

1. 

2. 

3. 

4. 

Question ID : 264330106334
Option 1 ID : 264330417638
Option 2 ID : 264330417639
Option 3 ID : 264330417637
Option 4 ID : 264330417640

Status : Answered
Chosen Option : 4

Q.1 A sum on compound interest at a certain rate becomes ₹9,680 in 2 years and
₹11,712.80 in 4 years. What is the rate of interest?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330104522
Option 1 ID : 264330410389
Option 2 ID : 264330410392
Option 3 ID : 264330410391
Option 4 ID : 264330410390

Status : Answered
Chosen Option : 2

Section : Numerical Ability



Q.2 Find the average of all the odd numbers from 1 to 43.
Ans 1. 21

2. 23

3. 25

4. 22

Question ID : 264330119188
Option 1 ID : 264330467039
Option 2 ID : 264330467041
Option 3 ID : 264330467042
Option 4 ID : 264330467040

Status : Answered
Chosen Option : 4

Q.3 A and B working separately can mow a field in 12 and 10 hours, respectively. They
work alternately, each for 1 hour, beginning with A, at 5:00 a.m. At what time will the
mowing be completed?

Ans 1. 4:30 p.m.

2. 5:30 p.m.

3. 4:00 p.m.

4. 5:00 p.m.

Question ID : 264330104208
Option 1 ID : 264330409134
Option 2 ID : 264330409136
Option 3 ID : 264330409133
Option 4 ID : 264330409135

Status : Answered
Chosen Option : 3

Q.4

Ans 1. 15%

2. 10%

3. 20%

4. 5%

Question ID : 264330130381
Option 1 ID : 264330510638
Option 2 ID : 264330510636
Option 3 ID : 264330510635
Option 4 ID : 264330510637

Status : Answered
Chosen Option : 3



Q.5 What is the area (in cm2) of a triangle whose sides are 3 cm, 4 cm, and 5 cm?
Ans 1. 10.5

2. 4

3. 8

4. 6

Question ID : 264330130035
Option 1 ID : 264330509373
Option 2 ID : 264330509374
Option 3 ID : 264330509372
Option 4 ID : 264330509371

Status : Answered
Chosen Option : 4

Q.6 If the radius of the base of a right circular cylinder is increased by 20% and the height
is decreased by 30%, then what is the percentage increase/decrease in the volume?

Ans 1. Increase by 0.8% 

2. Decrease by 0.8% 

3. Decrease by 0.5% 

4. Increase by 0.5% 

Question ID : 264330103658
Option 1 ID : 264330406938
Option 2 ID : 264330406940
Option 3 ID : 264330406937
Option 4 ID : 264330406939

Status : Answered
Chosen Option : 1

Q.7 If the simple interest on ₹800 for 4 years and on ₹600 for 2 years combined together is
₹280, then what is the rate of interest per annum?

Ans
1. 

2. 

3. 

4. 

Question ID : 264330119339
Option 1 ID : 264330467645
Option 2 ID : 264330467644
Option 3 ID : 264330467646
Option 4 ID : 264330467643

Status : Answered
Chosen Option : 2



Q.8

Ans
1. 

2. 

3. 

4. 

Question ID : 264330126121
Option 1 ID : 264330494157
Option 2 ID : 264330494158
Option 3 ID : 264330494156
Option 4 ID : 264330494159

Status : Answered
Chosen Option : 3

Q.9 The marked price of a chair was ₹1,200. This price was 20% above its cost price. If the
chair was sold at a discount of 5% on the marked price, then find the profit
percentage.

Ans 1. 12%

2. 11%

3. 16%

4. 14%

Question ID : 264330118073
Option 1 ID : 264330464109
Option 2 ID : 264330464108
Option 3 ID : 264330464107
Option 4 ID : 264330464110

Status : Answered
Chosen Option : 4

Q.10 In a race of 150 m, R beats S by 9 m. If S takes a head start of 15 m, how long (in m)
should the race be to have a tie between them?

Ans 1. 210

2. 250

3. 180

4. 270

Question ID : 264330167760
Option 1 ID : 264330657996
Option 2 ID : 264330657997
Option 3 ID : 264330657995
Option 4 ID : 264330657998

Status : Answered
Chosen Option : 2



Q.11 What is the largest number that can exactly divide 48, 92 and 140?
Ans 1. 4

2. 12

3. 11

4. 14

Question ID : 264330118194
Option 1 ID : 264330464591
Option 2 ID : 264330464593
Option 3 ID : 264330464594
Option 4 ID : 264330464592

Status : Answered
Chosen Option : 1

Q.12 If David purchases 10 bananas for ₹25 and sells 9 bananas for ₹45, then what is the
gain percentage?

Ans 1. 

2. 

3. 

4. 

Question ID : 264330104350
Option 1 ID : 264330409701
Option 2 ID : 264330409704
Option 3 ID : 264330409703
Option 4 ID : 264330409702

Status : Answered
Chosen Option : 2

Q.13 The HCF of 448 and 336 is _______ times the HCF of 48 and 36.
Ans

1. 

2. 

3. 

4. 

Question ID : 264330112057
Option 1 ID : 264330440314
Option 2 ID : 264330440316
Option 3 ID : 264330440315
Option 4 ID : 264330440313

Status : Answered
Chosen Option : 4



Q.14

Ans 1. 3593

2. 1540

3. 385

4. 6160

Question ID : 264330168973
Option 1 ID : 264330662696
Option 2 ID : 264330662698
Option 3 ID : 264330662695
Option 4 ID : 264330662697

Status : Answered
Chosen Option : 2

Q.15 The sum of the digits of the LCM of the numbers 30, 48, 96, 150 is:
Ans 1. 12

2. 14

3. 6

4. 8

Question ID : 264330103683
Option 1 ID : 264330407037
Option 2 ID : 264330407040
Option 3 ID : 264330407039
Option 4 ID : 264330407038

Status : Answered
Chosen Option : 3

Q.1 In most word processors, which of the following keyboard shortcuts is used to bold,
italicize, and underline the text, respectively?

Ans 1. Ctrl + B, Ctrl + X, Ctrl + V

2. Ctrl + A, Ctrl + B, Ctrl + C

3. Ctrl + P, Ctrl + V, Ctrl + U

4. Ctrl + B, Ctrl + I, Ctrl + U

Question ID : 264330175972
Option 1 ID : 264330690184
Option 2 ID : 264330690183
Option 3 ID : 264330690186
Option 4 ID : 264330690185

Status : Answered
Chosen Option : 4

Section : Computer Proficiency



Q.2 Which option allows you to increase the size of selected text in Microsoft Word 365?
Ans 1. Underline

2. Font Size

3. Bold

4. Italic

Question ID : 264330180735
Option 1 ID : 264330708909
Option 2 ID : 264330708910
Option 3 ID : 264330708907
Option 4 ID : 264330708908

Status : Answered
Chosen Option : 2

Q.3 In MS Excel 365 which of the following shortcut keys is used to select entire workbook
in MS Excel?

Ans 1. Ctrl + A

2. F1

3. Ctrl + S

4. F6

Question ID : 264330180402
Option 1 ID : 264330707575
Option 2 ID : 264330707578
Option 3 ID : 264330707577
Option 4 ID : 264330707576

Status : Answered
Chosen Option : 4

Q.4 What is the purpose of a URL (Uniform Resource Locator)?
Ans 1. To format text on websites

2. To manage user accounts on websites

3. To provide the address of a web resource

4. To create animations on websites

Question ID : 264330180677
Option 1 ID : 264330708676
Option 2 ID : 264330708678
Option 3 ID : 264330708677
Option 4 ID : 264330708675

Status : Answered
Chosen Option : 3

Q.5 In MS-Word 365, which of the following actions is a part of the document creation
process?

Ans 1. Printing the document

2. Applying formatting to the text

3. Inserting a table of contents

4. Saving the document with a new name

Question ID : 264330178092
Option 1 ID : 264330698434
Option 2 ID : 264330698431
Option 3 ID : 264330698433
Option 4 ID : 264330698432

Status : Answered
Chosen Option : 2



Q.6 Which of the following options is used while printing documents in MS
Word 365, i.e. if we want to print all the pages from 7 till 10, then the printer
should print only the 7th, 8th, 9th and 10th pages?

Ans 1. Print one sided

2. Collated

3. Print Custom Range

4. Orientation

Question ID : 264330178601
Option 1 ID : 264330700431
Option 2 ID : 264330700432
Option 3 ID : 264330700433
Option 4 ID : 264330700434

Status : Answered
Chosen Option : 3

Q.7 Which of the following statements related to Assigning a Label to an email is
INCORRECT?

Ans 1. We cannot use label in email to sort our inbox.

2. Assigning a label to an email is the equivalent of moving it into a specific folder.

3. We can use labels in email to sort our inbox.

4. We can apply multiple labels to a single email.

Question ID : 264330180390
Option 1 ID : 264330707530
Option 2 ID : 264330707527
Option 3 ID : 264330707528
Option 4 ID : 264330707529

Status : Answered
Chosen Option : 1

Q.8 The keyboard shortcut key used to print preview in MS-Word 365 is:
Ans 1. Ctrl + F2

2. Shift + F1

3. Ctrl + F1

4. Shift + F2

Question ID : 264330175979
Option 1 ID : 264330690212
Option 2 ID : 264330690213
Option 3 ID : 264330690211
Option 4 ID : 264330690214

Status : Answered
Chosen Option : 3



Q.9 In MS Excel 365 which of the following is one of the options to edit cells in MS-Excel?
Ans 1. Edit bar

2. Formula bar

3. Space bar

4. Ribbon

Question ID : 264330178264
Option 1 ID : 264330699114
Option 2 ID : 264330699111
Option 3 ID : 264330699112
Option 4 ID : 264330699113

Status : Answered
Chosen Option : 1

Q.10 In MS Excel 365 which tab on the Microsoft Excel ribbon allows you to access options
related to opening and saving files?

Ans 1. View

2. Insert

3. File

4. Home

Question ID : 264330180680
Option 1 ID : 264330708690
Option 2 ID : 264330708688
Option 3 ID : 264330708689
Option 4 ID : 264330708687

Status : Answered
Chosen Option : 3
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